

Ocean County Board of Commissioners

OFFICE OF THE OCEAN COUNTY COMMISSIONERS

Director John P. Kelly
Deputy Director Virginia E. Haines
Commissioner Barbara Jo Crea
Commissioner Gary Quinn
Commissioner Joseph H. Vicari

101 Hooper Avenue Toms River, New Jersey 08754-2191

Tel: (732)929-2005 Fax: (732)505-1918

Board Meeting Agenda

Date: January 19, 2022 - 4:00 PM

Location: Administration Building

Room 119

101 Hooper Avenue Toms River, NJ 08754

Agenda: Awarding Contracts for the furnishing and delivery of ACOUSTICAL CEILING TILE STOCK to Continental Flooring Company and Continental Hardware, Inc., the lowest qualified bidders. (B2022-03)

Official Resolution#				2022000037							
Meeting Date				01/19/2022							
Introduced Date			C)1/1	9/2	022	2				
Adopted Date			C)1/1	9/2	022	2				
Agenda Item			r	n-3							
CAF#											
Purchase Req. #				B2022-03							
Result			Adopted								
COUNTY COMMISSIONER	PRES.	ABS.		MOVE	SEC	AYE	NAY	ABST.			
Kelly		~	,								
Haines	~					~					
Crea	~			~		~					
Quinn	~					~					
Vicari	~				~	~					

I HEREBY CERTIFY THAT THIS DOCUMENT IS A TRUE, COMPLETE AND ACCURATE COPY OF THIS RESOLUTION, ADOPTED BY OCEAN COUNTY BOARD OF COMMISSIONERS, NJ AT THE MEETING REFERENCED THEREON

Clerk Of The Board



RESOLUTION

January 19, 2022

WHEREAS, on December 7, 2021, pursuant to legal advertisements therefore, sealed bids were received for the furnishing and delivery of ACOUSTICAL CEILING TILE STOCK for the County of Ocean; and

WHEREAS, at the advertised time, responses were received from the following bidders:

Name and Address of Bidder

Continental Flooring Company 9319 N. 94th Ave. **Suite 1000** Scottsdale, AZ 85258 (800) 825-1221 Ext. 1236

Name and Address of Bidder

Continental Hardware, Inc. 400 Delancy Street Newark, NJ 07105 (973) 589-3929

; and

WHEREAS, after the receipt and examination of same, the County Purchasing Agent has now recommended to this Board that the lowest qualified bid, according to specifications, in each instance, be accepted namely that of, CONTINENTAL FLOORING COMPANY and CONTINENTAL HARDWARE, INC.

NOW, THEREFORE, BE IT RESOLVED by the BOARD OF COMMISSIONERS of the COUNTY OF OCEAN, STATE OF NEW JERSEY.

1. The Director and Clerk of this Board are hereby authorized and directed to enter into a contract for the furnishing and delivery of Acoustical Ceiling Tile Stock for the County of Ocean, for the contract period from date of award through January 18, 2024, a period of two (2) years or until delivery is complete unless otherwise stated. The County reserves the right to extend the term of the contract pursuant to N.J.S.A. 40A:11-15, as follows:

Introduced on: Adopted on: Official Resolution#: 2022000037 A. CONTINENTAL FLOORING COMPANY for five (5) items, to wit:

ITEMS NO. 1, 2, 3, 4 and 5.

This vendor has extended this contract to County Cooperative Contract System Participants.

B. <u>CONTINENTAL HARDWARE, INC.</u> for one (1) item, to wit:

ITEM NO. 6.

This vendor has extended this contract to County Cooperative Contract System Participants.

- 2. Payments for the materials to be acquired by these contracts shall be made upon the approval of vouchers submitted by the successful bidders in accordance with the requirements of the Board of Commissioners and subject to the Board of Commissioners customary procedures. Delivery shall be made upon receipt of a Purchase Order issued by the Ocean County Department of Purchase, upon which delivery locations and needed quantities shall be indicated.
- 3. The contract number must be placed on all papers, documents, invoices and vouchers pertaining to said contract, the number being B2022-03.
- 4. BE IT FURTHER RESOLVED that certified copies of this Resolution shall be made available to the County Auditor, County Department of Purchasing, Department of Finance, County Superintendent of Buildings and Grounds and the successful bidders.

Introduced on: Adopted on: January 19, 2022 Official Resolution#: 2022000037

CONTINENTAL FLOORING COMPANY

10. Acknowledgement of Submission of Forms from Current Bid Package*

Bidders shall complete all documents and acknowledge all terms included with the bid package. All documents should be from this bid package as forms change frequently and the most updated forms are provided in this specification. The forms must not be dated or executed prior to the date of advertising. Failure to follow these instructions is cause for rejection.

Confirmed

11. Submission of Bid Package*

By submitting a response to this solicitation, the Vendor understands and acknowledges that all required documents to this solicitation must be submitted and that failure to do so may be cause for rejection.

Bidder also understands that only one (1) bid submission shall be considered. Please DO NOT Submit a manual bid response. Submitting a manual response in addition to the electronic response is cause for rejection of your bid.

Confirmed

PRICE TABLES

SECTION A - ARMSTRONG - NO SUBSTITUTIONS

	Line Item	Description	Quantity	Unit of Measure	Unit Cost	Total	No Bid	Delivery, A.R.O.	COMMENTS
4	1	Armstrong Fine Fissured Tile #1729 with HumiGuard Plus, 2 ft. x 4 ft. x %", Square Lay-in, Color: White, 12 tiles/case	5	CASE	\$85.79	\$428.95		2-4 Weeks	Bidding as specified
√	2	Armstrong Fine Fissured Tile #1728 with HumiGuard Plus, 2 ft. x 2 ft. x %", Square Lay-in, Color: White, 16 tiles/case	100	CASE	\$69.65	\$6,965.00		2-4 Weeks	Bidding as specified
4	3	Armstrong "Cirrus Open Plan" Tile #558 with HumiGuard Plus, 2 ft. x 2 ft. x $\%$ " with beveled tegular edge, Color: White, 10 tiles/case	10	CASE	\$156.67	\$1,566.70		2-4 Weeks	Bidding as specified
1	4	Armstrong "Cirrus Open Plan" Tile #565, 2 ft. x 4 ft. x %", Square Lay-in, Color: White, 6 tiles/case	5	CASE	\$160.25	\$801.25		2-4 Weeks	Bidding as specified

CONTINENTAL FLOORING COMPANY

	Line Item	Description	Quantity	Unit of Measure	Unit Cost	Total	No Bid	Delivery,	COMMENTS	-	
l		Armstrong Cortega Tile #769, 2 ft. \times 4 ft. \times %", Square Lay-in, Color: White, 12 tiles/case	120	CASE	\$106.91	\$12,829.20		2-4 Weeks	Bidding as specified		
	TOTAL									\$22,591.10	

SECTION B - U.S.G. - NO SUBSTITUTIONS

Line Item	Description	Quantity	Unit of Measure	Unit Cost	Total	No Bid	Delivery, A.R.O.	COMMENTS		
i	U.S.G. Eclipse Tile #76975 with ClimaPlus, 2 ft. x 2 ft. x ¾", Fineline edge, Color: White, 12 tiles/case	50	CASE	\$228.84	\$11,442.00		2.4 Weeks	Bidding as specified		
TOTAL										

CONTINENTAL HARDWARE, INC.

PROPOSAL DOCUMENT REPORT Bid No. TBD ACOUSTICAL CEILING TILE STOCK Res-Pg:m.3-6

Line Item	Description	Quantity	Unit of Measure	Unit Cost	Total	No Bid	Delivery, A.R.O.	COMMENTS		,
5	Armstrong Cortega Tile #769, 2 ft. x 4 ft. x %", Square Lay-in, Color: White, 12 tiles/case	120	CASE	\$124.00	\$14,880.00		1 WEEK			
TOTAL										

SECTION B - U.S.G. - NO SUBSTITUTIONS

	Line Item	Description	Quantity	Unit of Measure	Unit Cost	Total	No Bid	Delivery, A.R.O.	COMMENTS		
√	6	U.S.G. Eclipse Tile #76975 with ClimaPlus, 2 ft. x 2 ft. x $\frac{1}{2}$ ", Fineline edge, Color: White, 12 tiles/case	50	CASE	\$175.00	\$8,750.00		1 WEEK			
	TOTAL									\$8,750.00	